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If the length, beadth and height of a cuboid are 2 m, 2m and 1 m respectively,
then its aurface area is (in m?)

a)s b) 12 c) 16 d) 24

2u8, 28 wppin 18 sSluamenn WsHBELL BT, H60 9 _UITHISETS, 2 _snlll
BT QFsinshdar Oaafiuriy (in m’) _

a)s b) 12 c) 16 d) 24

The ratio of the circumference of two circles is 2:3 What{s the ratio of their area?
a)2:3 b)4:9 c)3:2 _ d) 9:4

Blm UL RSHeT6 HMBMETYEBENI6H SIBIHID 2:3. oTaleu DiHel LFULH6T6 6l Sl
wingI? |

a)2:3 b) 4:9 €)'3:2 d) 9:4

For the integer 224 in declmal systém, the digit 2 in position 2 from the right, has
the value :

a) 10 +B) 200 c) 20 d) 4

224 s arsnemneu ueutimbal B lons 2aiE BLsdE0 BmeE@ 261 WwHiy
a) 100 b) 200 c) 20 d) 4

If the compound interest on a certain sum for 3 years at 10% per annum be
Rs.331. What would be the simple interest?

a) 250 b) 231 c) 331 d) 300

apL Fal(h sully 10% sillst, @m Getems 3 sumLHase Gume sl suly
331l aiey, b5 Cotens, 2CH sreusHzied CUmHD Halauly esuasiey?

a) 250 b) 231 c) 331 d) 300

HCF of X*-2xy+y” and x'-y"is

a1 b) x+y c) x-y d) x’-y*
)(2-2><~,r+v2 LOM LD x4-y4 TN 3 TR ) | W

a)l b) x+y c) x-y d) x*-y*
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The G.G.D of 1.08, 36 and 0.9 is

a) .03 b).9 c).18 d) .108
1.08, 36, 0.9 sy @l epeiay slsomdstisn WOLGLE GUTSl @G sTammamisns]
a) .03 b).9 c).18 d) .108

Two series are given below with specific pattern

6| 18 36 | 108 | 216 | 648
2| (a) [(b) ] () | (d) | (e)

What will come in the place of (e)?

a) 482 b) 344 c) 216 d) 420

B Lerhssin L il L o &&senlel g B GET_TEstsu (e)-si
&I HTeu05H. '

6| 18 | 36 | 108 | 216 | 648

2| (a) [(b) ] (c) | (d) | (e)
a) 482 b) 344 c) 216 d) 420

A cube has a total surface area of 384 cm?’. Find itswolume.

a) 346 cm’ b) 512cm’ c) edem’ d) 248cm’

RMm SNEFHISHE GloTesl Lphuylily 3845.615.10 sTeled, DiHET &6 DiETEn6
B0 5 4

a) 346 ®.6i5 15 b) 512 &.6&5.8 c)64 &GF.15 D) 248 & GlF.f

If x+—=2 then x* +—=
x -
a)8 _ b) 2 c)6 d) 4
X+-=2 gisig X 4—13=
X . X

a)s b) 2

1 3 J L 1 L

p 2x3 '324'4:;5’ . .
a)— b)2 2,
)10 )5 ' d) 10
17,1 1 i

+ + R
E i 3x4 4x5 9x 10 N | .
aJl—O b) = d

Find the value of

HIL] BIFIS.

Find the area of a parallelogram whose base and heightare 9 cm and 5¢cm
respectively
a) 45cm’ b) 40cm’ c) 14cm’ d) 22.5cm’
Siplhiugsn 0F.8 whpib 2 wird SGFid ssmsgd 2 L Ssnen s s5alsin
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LTLILIETT6Y  SBI63T5.
a) 45 #.6F.8 b) 40 #.GiF.10 c) 14 56F.10 d) 22.5 #6510

The ratio of the incircle and circumcircle of a square is

a)1:2 b) 2:3 c)3:4 d) 4:5
@M FHRTHHO UsEmEmeTE GHT_(HF GFsusmit 2 sl LD whpi
(psmeaiiLgsiteT auPlGu1F GlFsvst Glusiieu L H&em UFlssTs sl sio
a)1:2 b) 2:3 c)3:4 d) 4.5

Find the total area of 14 squares whose sides are 11 cm, 12 cm,

a) 4415 sq.cm. b) 4055 sq.cm. €) 4155 sg.cm. d) 4515 sq.cm.
11 G, 12 GFad........ 24 Qs ySluwisumens UbshbsTTs Gomsin. 14
Falymsstsn Glordss Uiy ST,

a) 4415 a.Gaa8 b) 4055 #.G#.f c) 4155 F.G&.af d) 4515 #6iFaf

If the diameter of sphere is doubled, the increase in its surface area will be

a) 100% b) 200% c) 300% 'd) 400%

Rm Carashdish Ll BiH WL RETHDSH ella HHH YMUITHLY 615H5emen
3P B HEEG0D?

a) 100% b) 200% c) 300%. d) 400%

A sum of money at compound interest doubles itself in 15 years. It will become
eight times of itselfin

a) 60 years b) 54'years ' c) 48 years d) 45 years

R0 OesTmautmsl, miGnly adssds 15 samibGaais 2 1Lkg usmse
cTaiiey sldhHenen Eyaihsater HCHETMS 8 WL HSTEHD?

a) 60 uHL BB ot b) 54 auihL BB

c) 48 aHLbissi d) 45 6 (LB

The smallest 3-digit prime number is

a) 101 b) 107 c) 109
ppsitg @lsvds WEFFHBIL usr ss stml?
a)io01 b) 107 c) 109

Simplify:

112 1
[14.7 + E] -[147 — E]
a)7 b) 5 c) 147 d) 14
&(HE(E:

112 1
[147 m 47] -[147 -+
a)7 b) 5 c) 147 d) 14

2

2
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If A: B=4:6, B: C=18:5 then the ratio of A:B:C s

a)11:12:18 b) 12:18:7 c)12:18:5 d) 18:5:7
A: B=4:6, B: C=18:5 aiaiisb A:B:C &Hamen aldHib

a)11:12:18 b) 12:18:7 c)12:18:5 d) 18:5:7

simplify: (VZ +1) +(VZ= 1)

a)52v2 b) S0vVZ c) 56v2 d) 582
(1 (5 B (\/2 + 1)5+(\/2 - 1)5

a)52v/2 b) 50v/2 c) 56v/2 d) 582

The surface area of a cube is 96cm”. Find its volume

a) 16cm’ b) 48cm’ c) 64cm’ d) 27em* ™
@R &0 FHIHH6N Grusluuglly 96F.6F .5 s6ley ST HsTe) ST

a) 165.G0#.18 b) 48 &.0GlF.f c)64 &065.18 d)27 ‘&.bs..8

A sum of Rs. 12,000 deposited at compound interest becomes double after 5
years. After 20 years, it will becomes

a) Rs.1,92,000 b) Rs.1,20,000 _¢)Rs1,24,000 d) Rs.60,000

([ aulwulst wpsedh GFEumin’L 712,000 CsransLnsis @mbal su(HL
(Wigallst Eireoii(h LWL HHBTE EMG 6lby, b Getmae 20-0 sumL (Wyeallst
slalsuslsY 21l (hah @i -

a) m.1,92,000 b) m. 4,20,0000 ¢ m.1,24,000 d) ;.60,000

Kamal invested Rs:3,000 to a 1 year at 7% per annum Find the simple interest
and the amount received by him at the end of one year.

a) 210,3210 b) 200,3200 c) 180,3180 d) 260,3260
B QT UMY BG 770 iy slsssie wmh.3.000 Callssaiprr. Qumsm
(pafist ST Gumb SHai al pebh, GHTnSMLILID &T6HHiS.

a) 210,3210 b) 200,3200 c) 180,3180 d) 260,3260

The difference between 78% of a number and 59% of the same number is 323.
What is 62% of that number?

a) 1037 b) 1054 c) 1159 d) 1178

@0 GHUULL  eemewiisst 78% whmib 39% @enL Cwimen liGHguTFn 323 sailsh
2I8x sremismiait 62%HHTen WAL sTauIETRYT

a) 1037 b) 1054 c) 1159 d) 1178

24,  Calculate the area of a quadrant of a circle of radius 21 cm?
a) 346.5cm’ b) 322.7cm’ c) 308.8cm’ d) 288.7 cm’
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216F.8 sypupsien Smsveul L (1 LGS WIS UTLILISTS)| &Tao.
a) 346.55.6G5.18 b)322.74.Geif  ¢)308.84.GF.15  d)288.7 #.6&.10

Velume of a hemisphere is 19404 cu. cm. It’s radius is

a) 10. 5cm b)17.5 cm c)21cm d) 42 cm
2AMTEEHTeHS T Senane] 19404 & Glgif  selsn NG DUTD  aT6Tam?
a) 10. 5cm b) 17.5cm c)21cm d) 42 cm

Simplify: V81 + V216 + V32 =?

a) 10 b)11 c)9 d) 4
sHsEs: V81 + 3216 + /32 =2

a) 10 b) 11 c)9 d) 4

The monthly average wholesale prices Index number is the 2011 — 12 is=—----- -
[ as base 2004-05 = 100]

a)156.1 b) 143.3 c) 130.8 d)-116.6
IrHTHEBE Frraf Gierss eiBusmam elsmso @uiufrsma O _ays 2011 -
1260 Bumhsa (2004-05=100 syl Sy6mib)

a)156.1 b) 143.3 c) 130.8 d) 116.6

e,
Ifa: b=c: d then —— isequal to
mh +nd :
ajm:n b) dm: cn c) an: mb d)a:b
.. Ima-mnc i . T -
a:b=c:deraiisb 5@, (FLolher &
b +nd :

a)m:n b)dm: en c)an: mb d)a:b

BB 6T ?

What is the probability of more than 4 when a dice is thrown?
& g b) 1 = d) -
@ UEenl o (pl L ufn Cunsl 4B Bwsd alnLlusiE, sl HEpHseyT

2 1
a) b): )= d) -

Two series are given below the specific pattern

17 J15 [31 |e3 [127
4 |(a) |[(b) [(e) |(d) |(e)

What will come in the place of (d)?

a) 79 b) 92 c) 74 d) 66

S Oemibasaiu’ L GNUlLL o sHlseEnlsl g @m GsTeifeeist (d) —sr
WAL HTewIES

7 15 |31 |63 | 127|225

4 [(a) |(b) [(c) [(d) |(e)
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a)79 b) 92 c) 74 d) 66

Find the number which is 15% less than 240

a) 220 b) 200 c) 215 d) 204
240 m el 15% @enmaunar GIenenaTdh G S

a) 220 b) 200 c) 215 d) 204

If the total surface area of a solid semi sphere is 675 msq. cm, then its curved
surface area is

a) 243 rsq. Cm b) 340 rsq. Cm c) 450 sq.Cm d) 240 wsq. Cm
R Hewin Soysbarengslsn Gorhsl ypluTiy 675 TSY. CM sTal60, DigH6T
SUEDETILITLIL] ST&iLIZR]

a) 243 msg. Cm b) 340 rsq. Cm c) 450 mrsq. Cm d) 240 7rsq. Cm

An almirah is sold at Rs. 5,225 after allowing a discount of 5%. Findiits marked
price &

a) Rs. 5,000 b) Rs. 5,500 ¢) Rs. 6,500 d) Rs. 5,575
2@ 2eowril 5% seapupuist @ 5225% s6 lbéelBE D e, g6
GNihs allensu sTeils?

a) Rs. 5,000 b) Rs. 5,500 c).Rs, 6,500 d) Rs. 5,575

A car covers a distance of 432 km atthe speed of 48km/ hr. In how many hours

will the car cover this distance?

a) 6 hours b).7 hours c) 9 hours d) 12 hours

s 432 SCupnlilmy L5 wanisE 48 &6t LT Cassda

Glzsbainal. JASHMHMS DD_ASHHEH DLUFDEG &0 hhale OemeiEnn

Lwemr BHILD’ sTausueTsy

a) B sl Bk i sl b) 7 weniiGny missei c) 9 wewil Gy miBsi
d) 12 wenll Gmymussi

Ifx+%= 3thenx5+%isequalto

a) 123 b) 83 c)92 d) 112
x-ti: 3 sraflso x> +%5 @ FLLTsNE]

a)123 b) 83 c) 92 d) 112

Ifaib=2:3andb:c=5:7thenfinda: b:c

a)21:15:10 b) 15:10: 21 c)10: 15: 21 d) 21: 10: 15
a:b=2:3ofmub b:c=5:7 maray a:b:cer wHin| sras

a)21:15:10 b) 15:10: 21 c)10: 15: 21 d) 21: 10: 15
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A distance is covered in 3 hours 48 mins at 5 kmph. How much time will be taken
to cover it at 28.5 kmph?

a) 40 min b) 20 min ¢) 30 min d) 38 min

@@ walgHs 5 kmph CauassHzey GROULL sMyHsns 3 wenl 48 Bibl 5360
SLAE@MTH. 2AHSH WG 2465 angHend 28.5kmph Cauadsaley &L OusiG
srsllauaay Cmyln SyHin?

a) 40 min b) 20 min c) 30 min d) 38 min

Match the following:
a)1® +6° +8°

b) Value of

c) 45% of 60

d) Radius of a cirucle
whose circumference is
44cm

b)
c)
d) 3

QLT HHEIS:

A
a) 4
1
4

a)1® +6° +8°

b) m er Wiy
c) 45% &1 60 .
d) 44 Gzl FHBmsTRENLLL
SULL ol BiLD

A B
a) :

b)
c)
d)

How many bricks will be required to construct a wall 8m long, 6m high and 22. 5
cm thick, it being given that each brick measures 25cm x 11. 25cm x 6cm?

a) 6400 b) 6300 c) 6200 d) 6500

w0 Feuien memb 8, 2 wiph 6f Higws (se0b). 22.5 GlF.ul iemaysa
Garami sl SFsoumy slBasne 25 G X 11 25 Gl X 6 Gz.b
ineymen GlETemL sihHmen GlFmssiss GamauBaina?

a) 6400 b) 6300 c) 6200 d) 6500
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A number is doubled and 9 is added. If the resultant is tribled, it becomes 75
what is that number?

a)3.5 b)6 c)8 d) None of these
5 eleTeiis Bl WLfGLET 9 59 anlly eu(BlD (PO MISTS WIHBLILI L Tsu
UMD &llemi 73 eaIalse Db slenr WiTHlT?

a)3.5 b) 6 c)8 d) None of these

Find the value of Jt’) /6 46 & -+
%) 3 b) 2 c)4 d) 1

\/6 +V6+ /6 F e DS IDUIG  BTETTH
a)3 b) 2 c)4 d) 1

Xy Az yz !
== b and — = c,where a, b, c are all non- zero numbers, then x

Aty x4z y+z
equal to

2abc abe 2abc 2abe
a) —_— T

ab+be—ab b) C] d*)

ab+bec+ca ab+be—ac - altac—bc

xy XZ .. VE : . . I .. . . .
—=q;—=>b 1w — = a,b,c (o0 Ly ) 0T
= — LD mILD e wome a, b, ¢ 28l WEOUNDDm ST asTT
STENED X- 60 LD&IIL]

2abe abe . 0 2abe
Jmt——s s 7 = e

2abe

d)

e e
ab+be—nh ab—+ho<+on ah+hc—ac ab+ac—he

The sum of two numbers is 2490. If 6.5% of one number is equal to 8.5% of the
other. Then find the numbers

a) 989, 1501 b) 1014, 1479 c) 1401, 1089 d) 1411, 1079

®\n  sie0dis 66 &hm@éiu 2490 g areoiieniisht 6.5% wisolgryn seodenilsl 8.5% B
FULW Faist Bihd STONBMETE SIS

a) 989, 1501 b) 1011, 1479 c) 1401, 1089 d) 1411, 1079

In a triangle ABC, LB = 90°, AB= 18cm, BC= 24 cm, calculate the length of AC.
a) 20 cm b) 40 cm c)30cm d) 35 cm

A ABC, LB = 90° AB=18cm, BC= 24 cm srasiish AC —6i1 HemiD Hmenia

a) 20 cm b) 40 cm c)30cm d) 35 cm

The least number of five digits which is exactly divisible by 12, 15 and 18 is
a) 10010 b) 10015 ¢) 10020 d) 10080

12, 15 whmib 18- o0 su@GuBlD WisFdFMu mbsHeudss eeor (Lirs)?

a) 10010 b) 10015 ¢) 10020 d) 10080

LCM of two prime numbers x and y (x>y) is 161. Find the value of 3y- x is
a)-2 b)-1 ¢l d) 2
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X wBm y(BiRm x>y aeim @i ust stemimstmen B.GUmw 161, srensy, 3y- X &
DL ST5OTLIG
a)-2 b)-1 )1l d) 2

| f 21 cows eat much as 15 buffaloes, how many cows will eat that much as 35
baffaloes?

a) 49 b) 56 c) 45 d) 42

21 usdEsT 13 sUmHEDWHT ey FTUNBDI6HBM. aallsy ThHMeN USHSSHT 33
SIHEDIDEST 6Tz FTULIHID?

a)as b) 56 c)45 d) 42

If 6 men working 8 hours per day and earn Rs. 8400 per week, then 9 men
working 6 hours per day will earn per week

a) Rs. 8400 b) Rs. 9450 c) Rs. 16200 d) Rs. 16800

6 Bui @m mTawendE 8 wemil BCHID Gsusnew GFUISL @M eMHaHinE mS8400
Fiunglebalament. gaish 9 Cui, @m BrombE 6 wewl Gryh Geumen GFUIg
D SUTTHSHDEG saialsTs] FouTHLLTT? _

a) Rs. 8400 b) Rs. 9450 c) Rs. 16200. 'd) Rs. 16800

If% = E and 8a+ Sb = 22, then the value of a is,

3 3 55
a) < b) 5 ==

= i 8a+ 5b = 22, aigiey @k Wl s

A 3 5
b];'z' c) z

3
4

Two seriés are given below with specific pattern

7 24 |10 |33 |145]465
11 [(a) [(b) [(c) |(d) |[e)
What will come is the place of (c)
a)51 b) 23; ¢) 19 d) 16

B berhésiu L GOUllL 2 &&lsenla amow Gm GsT_isefso (c)— ar
&I HTesH

7 |24 |10 [33 |[14.5]|465
11 |(&] [(b) [(c) [(d) |(e)

a)51 b) 23 <) 19% d) 16

56. There are 600 students in a school. Each offered either English or Hindi or borth.
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If 75% offered English and 45% offered Hindi, how many offered both?

a) 48 b) 60 c) 80 d) 120

@@ Usienlulist 2 _sfrsm 600 WIeMaITSEhHE R6ULRITHAIHSEHID S MISIEULD
Siveusl Gihd isveual BiremBle uwiBpelssliuBang 75% SyRdsun  WHHID
45% @nhg ulpneldsiiubdmg aeflss @rasnBn Uuiieid WTTITSEET 6155
Buit?

a) 48 b) 60 c) 80 d) 120

Insert the missing number

7,26,63,124, 215, 342, -—-—-

a) 481 b) 511 c)391 d) 421
Gl Hdsuur L GlgiLfled sdiBULL  sloodisnsld il

7, 26,63, 124, 215,342, —---

a) 481 b) 511 c)391 d) 421

Ifa: b=3:2, b:c=3:4,c: d= 2: 3 find a: b; c:d T
a)3:2:4:3 b)9:6:8: 6 c)9:6:8:12 d) 3:6: 8: 12
a:b=3:2,b:c=3:4,c: d= 2: 3statiied a:bic:dm snewn

a)3:2:4:3 b) 9:6: 86 c)9:6:8:12 d) 3:6:8: 12

How many combinations of two-digit numbers having 8 can be made from the
following numbers? '

8,52,1,7,6 .

a)o b) 10 C 11 d) 12

820 @ sIENEnT & llBTanil  \sTeAT BETIgHATIA STeMIaNNHNE 155N
8,521,7,6 : .

a)9 o 44 b) 10 c)11 d) 12

A pole 50 m high stands on a building 250 m high to arm observer at a height of
300 m, the building and the pole subtend equal angles. The distance of the
observer from the top of the pole is

a) 25m b) 50 c) 25V3m d)25vV6 m

M &loLn 30 BULT 2 wrhsed 250 WLT 2 wiyupsien @i &l HEHsu Gosn
s sisng). 300 BLLT 2 wiFhdHse 2 6T @ WISHMIGEH DHEH SULIPLD,

s gL 6y GrT Caremamnad BMEFDBE DbHH IDANHAT ATRIRIATR| ST HIHI6
SibhH HHUSHE 2 Fdapud UTTOLITET.

a) 2518 b) 50 18 c) 25318 d) 25V6 18

The radius of a circle is increased by 1% what is the increase percentage in its
area?
a) 1% b) 1.1% c) 2% d) 2.01%

The Best Coaching Institute For TNPSC, Bank, SSC, Police Exam, TET Exam, Railways Exams
@ 8939144344 10 & www.weshineacademy.com




@0 e L HHe e 1% 2 wmBmas DL SHHET 9 WIThHaETET  LFlsnu
FHelSHHFH Fmm?
a) 1% b) 1.1% c) 2% d) 2.01%

If 15% of 40 is greater than 25% of a number by 2 Then find the number
a)12 b) 16 c) 24 d) 32

40-ait 153%, mm stemtsmiann 25%s0 &l 2 SISHSIONE D STETE Aaa DIhSH
STE0T60GIN S ST,

a)12 b) 16 c)24 d) 32

4 men and 6 women can complete a work in 8 days, while 3 men and 7 women
can complete it in 10 days. In how many days will 10 women complete it.

a) 35 b) 40 c) 45 d) 50

@m Gousmsusnu 4 oyemEemib, 6 Gusiteemic BFhzl 8 BIlssm GlEid mriressT,
Cuenih =Bz Gauamsvenl 3syammEnd, 7 GusHiseEnD Baiha 10 BIL &6
Gali@mrrast. 10 bushisst WEBD 2ibs Gosnmenill erdhHona. Tl Sl
GlFdiE AP OLITTS6TT

a) 35 b) 40 d) 50

Find the value }_ -
.

ST

™m as[18

Three numbers are in the Ratio 1:2:3 and their H.C.Fis 12. find the numbers.
a)4,8,12 b) 5, 10, 15 c)1,20,30 d) 12, 24, 36
epeiTml sTemieTT 1:223 aaiip slldlmdhaiet Sienwhaetaer. owuplsh 15.6ur.en 12
GTGAN6Y BIh&h GIGNISHM6NH  SHiTes.

a) 4,812 b) 5, 10,15 c) 1,20, 30 d) 12, 24, 36

In how many years will a sum of Rs. 1,600 amount to Rs. 1,852.20 at 5% per
annum compound interest?

a)3 b) 4 c)5 d) 6

o5.1,600 sz 3% syl AmLE ol sisn GCETeml sHHmen Syswmhasafen
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i 1,852.20 &lan_ @107
a)3 b) 4 c)5 d) 6

Simiplify: [-sHy 4525 +8~ |53~ ﬂ}
C) 5% D) '22_;

b)<2=
60

Find the area of the iron sheet required to prepare a cone 24 cm high with base
radius 7 cm

a) 704 cm? b) 702cm’ ¢) 700cm’ d) 668cm’

24 Qe 2 wrupl oiguss T 7 Gl Qemavl aiby Suniss
Bxmemsuline BUHIDL] HBLIQET LITLUL| SHT6mis.

a) 704 cm® b) 702cm? c) 700cm? d) 668cm’

The sum of the series 31+33+...+53 is

a) 729 b) 341 c) 504 d) 604
31+33+...+53 qistipy  OsmLiflen. FBHs0 sTeis2

a) 729 b) 341 c) 504 d) 604

What percent is 5 grams of 1 kg?

a) 5% b) 1% . c)0.5% d) 0.2%

1 #@sor @Symbihg™s &b % ssisn?

a) 5% b) 1% ¢) 0.5% d) 0.2%
b 8 98-t

Thewalue of is

3 6
7 4 16 32
a)g b)3 g)= d) —

92x18% o
“x18 . .
Sie 1 gloy
2 4 16 32

The cube root of 0.027 is

a)3 b) 0.003 c) 0.03 d)0.3

(0.027) a1 @& eLp6OLD

a)3 b) 0.003 c)0.03 d)o3
74. |If a:rt’:b:'::?:k, Then the value of k is

a)o b) 1 c)2 d) a+b+c
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a+b bic c+a
—_——— —k ass0 Keir 1oglliy

a

a)o b) 1 c)2 d) a+b+c

The ratio of boys togirls in a class is 4:5. If the number of boysis 20, then the
number of girls is

a) 15 b) 20 c)25 d) 26

@ suEUUlsd LomeeUTEsT LMmID oTeelWitssl &S 4:5 LonamsuiSerisn
aremteniicaeme 20 stafioy wirsmmslulei ststitsnt|dbamas

a) 15 b) 20 c)25 d) 26

Given the pie chart. Obtain the pass percentage of student who passed in 1* class

B Passed in Second Class
B passed in Third Class
= Falled

B Passedin First Class

a\
a)35% & /% E) 30% c) 10% d) 25%
Bihs \eﬁmﬂmgﬂs}fﬂmasaa uLSHHeNmbaHl WwremaTasT (WHso suly Cxirsd
CubmaTBeNS Al(pdHT[H s’

Sales

B @reiLme sugliish
Bpizs

= pHad sugnish
Bphes

o Bxted GQumnseursst

B apeitpme sugiiisy
Ganrd

a) 35% b) 30% c) 10% d) 25%
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At what rate of interest compound interest per annum will Rs. 640 amount to
Rs. 774.40 in 2 years

a) 8% b) 9% c) 10% d) 11%

sl gl (f sul wuist aweiten FHsisHHen 7.640 oyensml Byswtlh oLem(hSersy
. 77440 2a10?

a) 8% b) 9% c) 10% d) 11%

A circus tent is cylindrical to a height of 3 m and conical above it. If the base
radius is 52.5 m and slant height of the cone is 53 m, find the area of canvas
required to make the tent.

a) 3157 m? b)3097.5 wm*  ¢)2782.5 ™ m* d) 2997.5 m m*

@05 FTHEHEN FLATOTS 318 o Wiypsitsn 2@ menenllsn & alby MLWhHEHIH
Guimsit suy UGS BUIGTENSE BT DWILESID <y 32510 sbller smupumn 53 B8
STaiey, BT DWWEESH BHenanumer Sldbsrer Sewhdlsn UFlisnus
et £ % U

a) 315 mif”* b) 3097.5 mf* c) 2782.5 mif* d) 2997.5 mif’

Area of asquare is % hectare. The diagonal of the square/is

a) 250 metres b) 100 metres c) 50V2metres d) 50 metres
@I FHIHEE LFLILISTEY -;- HBEIT, sIaiel FHITSHET fweneuail L LD

B GHID. .

a) 250 8L ir b) 10018 c) 50v/2.8 d) 5018

The surface areas of twospheres are in the ratio 9 : 25. Then their volumes are in
the ratio

a)27:75 b)27: 125 c)81: 625 d) 729 : 15625

B GameanmEsaen LBULTLILISTaEST 925 a1ein sldlssHem 2 siens Sieubmis
Go GRE o) 1% 0 ) gl 3 T

a) 2775 b) 27:125 c) 81:625 d) 729:15625

Complete the series 1 ZA, 3YB, 6 XC, 10 WD ?

a) 14 VE b) 15UE c) 12VE d) 15 VE
17A, 3YB, 6XC, 10 WD ? aigiip eufilanasnil BIFLiLE,

14 VE b) 15 UE c) 12 VE d) 15 VE

The product of two numbers is 1600 and their H.C.F. is 5, the L.C.M. of the
number is

a) 320 b) 1605 c) 1595 d) 8000

@\m siommselien blumssst Gertens 1600 whnNs Emeusehsn W.Glumes. 5 sy
aramtaetien  uWl.alo SLFHD

a) 320 b) 1606 c) 1595 d) 8000
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A man sells two wrist watches at Rs. 594 each. On one he gains 10% and on the
other he loses 10%. Find his gain or loss percent on the whole

a) Loss % = 90% b) Gain % =5% c)Loss %6 =1% d) Loss % = 7%
EBm MHBHBYBNHBAT oICITHENBUILT (5.594-6E @meuT mmTT. EHssurm
ammHey 10% Esomupid wmpadso 10% BULIpD D0HEE JBULL &I
LTEHEHHHIED DamhEG GouUl L BeoTUD Sie0euE BLL FHalslh STeml.

a) plL amalsn =9%0% b) @evmuid sx:alsn = 5%

c)plL sxalsn =1% d)BlL Faaisn = 7%

(35]—.,! x(zd)—:i
212 x3 T x42

Simplify :

a) 7= b) 7= d) 62
9 8 8
(3%)7% x@2%)3

(242 x 3 H 42

1 1 2 & |

HHSGHE :

The principal amount triples itself at 8% per annum over @ certain time. Find the
number of years.

a) 20 years b) 25years c) 30 years d) 35 years

@n GUUILL oFsuras 8% allly ol B0 sThHmen SLaihaE6sd epsims)
DL MIBTED 61606 HT6MIEH |

a) 20 qu(mLmisHeT b) 25 aumimiEar  C) 30 sumL s d) 35 years

What number should be subtracted from each of the numbers 54,71, 75 and 99
so that the remainders may be proportional?

a)1 1 ' b) 2 c)3 d) 6

54,71, 75 ummio 99 sieiim @eublsumm eTsHTEMIL @D 6ThHE sTemiensmls  HilHHTE0
oiF& Bah sualdssdd Bmson?

a) 1 by 2 c)3 d) 6

Six men working 10 hours a day can do a piece of work in 24 days. In how many
days will 9 men working for 8 hours a day do the same work?

a) 10 days b) 15 days c) 20days d) 25 days

6 saniseT @ Gealshsuenl BTGlsnTenmiEE 10 wemil Cnyh Gousnev GlFligH, 24
Bl sellel (gl 9 =yeiisssit, BiblenielysEs § wemll Goyw Gousmsu blFuighrsu,
SIS HIL Hsilsy SyeiGsusnevanit (pigliir?

a) 10 mm’ as6lT b) 15mm’ &ei c) 20 ®_&ssir d) 25 ®Il HeiT

A can finish a job in 20 days and B can complete it in 30 days. They work together
and finish the job. If Rs.600 is paid as wages, then the share of A and B
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a) 240, 360 b) 300, 300 c) 360, 240 d) 400,200

A sisiuen @m Gausmsvsmi 20 BT Ssauh B asiusut 2165 Gausnevsnil 30

BT SeTMaild (WwuluT. Bmaumbd Caiha Gy GFUIg, ieiGaumsusnil (DIQdHhS]
m.600 = smssT sumsumwTsl GummenT oafsy A wmon Bar ukig ersien?

a) 240, 360 b) 300, 300 c) 360, 240 d) 400,200

If the average of the value 18, 41, x, 36, 31, 24, 37, 35, 27,36 s 31. Find the value
of x

a) 25 b) 24 c) 30 d) 26

18, 41, x, 36, 31, 24, 37, 35, 27 36 @eummisir Fgmafl 31 aeisv X 6l &L elsian’
a)25 b) 24 c) 30 d) 26

Find the difference between simple interest and compound interest for a sum of
Rs.8,000 lent at 10% p.a.in 2 years :

a)Rs. 70 b) Rs. 80 C)Rs. 90 d) Rs. 100

#p  8,000- a;@) 10% sl 1g slsdhaeh Eenill ewsifoseilst S S &'ﬂl_b

Al p&@i, sl auliph@Gh 2 6ien allbS g Hengd  HIe b,

a) m.70 b) @5.80 c) 90 d) (. 100

Simplify :
(3/8)°x(3/8)"+(3/8)’

a)2 b) %
HFHEGS.
(3/8)°x(3/8)"+(3/8)"

a) 2 b)%

Simplify ¢

270 378

a)5:7 b) 135 : 189 c)45:63 d)10: 14
270 : 378 &mEGH.

a)5:7 b) 135:189 c) 45: 63 d) 10:14

The radius of a sector is 42 cm and its sector angle is 60°. Find its perimeter.
a)l28cm b) 44 cm c) 88 cm d) 126 cm

@0 el Lds BaEremiuGSHUIE S 42Cm wnmih B owwd Gsremid 60°
STaNNG0 SUH FDMsTenald HTENE.

a) 128cm b) 44 cm c) 88cm d) 126cm

A and B together can complete a piece of work in 20 days and B alone in 30 days.
In how many days can A alone complete the work?
a)60 b) 50 c) 10 d) 45
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A wmmib B oSGt Glenenhal @i Geusnsvsnil 20 HTamaD wBmID B wl (Bib
Hanurs 165 Basmsvsnut 30 HIsHelD (PQULIT 616160 ALDL@L'D SHAUITH
ShH Gausmeenil ahsenel HTemsy (Lpplurr?

a) 60 b) 50 c)10 d) 45

In how many years will simple interest on Rs. 2500 at the rate 3% per annum be
equal to the simple interest an Rs. 1500 in 5 yr at the rate of 7% per annum?

a) Syr b) 6 yr c)7yr d) 8yr

5.235008@ 3% suml el 9@ Sl el igulst sumld GsTensund mumil 1,500-
@ UMD 7% SLsNNomE b Helsul lgu )b Fol esipmsy, Glomhs S0l
BTGURUGTTEY

a) Sy b) 6 &yemih c) 7 syai(p d) 8 sy

The height of a tree increases every year 1/8 times. If the present height of the
tree is 64 cm then what will be the height after 2 years?

a)76 cm b) 80 cm

c)8lcm d) None of the above

@@ WIoTeNsl s hae /81w 2 wneTapa. SB6UIS 2ihs w:r,fba?m
2 0y 64 GFsmgifl LT &t 2 eimLbHBE u“m@ Sbd WIHHH 2 WD
oTsiteusTNTS  B\HaEHIn 7

a) 760GF.1f b) 806lF

c) 81GF.8 d) Elowe) ersiisuemen

Given below are two series with specific pattern

3 [9 [ 30 ]105]436
3 | (a) | (b) | (c) | (d) | (e)

What will come in place of (c)?

a) 106 . b) 111 c) 109 d) 108

&0 OCsrhssiu L il L o sHsenlea agw Gm Gsmisefisy, (c)-e
WL Wng?

9 |30 [105 436 | 2195
(@) | (b) | (c) | (d) |(e)

a) 106 b) 111 c) 109 d) 108

If A’s monthly income is 40% more than that of B. How much percent is B's
income less than that of A?

a) 28> % b) 27> % c)252% d) 24> %

Aulsir ons sumoTsann Bullsit wrs sumwreanrgsng sl 40% oisisn stenbal

Audlsit 1oTSHenmBIDTaNGHsmgS Al BUlal (oTSaIGIOTaID asinlsTe| &ammea)?
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a) 282% b) 27-% c) 252 % d) 242 %

Rahul borrowed Rs.4,000 on 7™ of june 2006 and Returned it on 19" August
2006. Find amount he paid, If the interest is calculated at 5% per annum

a) Rs. 4,000 b) Rs. 3,500 c) Rs. 4,200 d) Rs. 4,040

TrEHsL 7.6.2006 2simi 54,000 sLamasl GuBm oEns 19.8.2006 Sesiml SHlaHbu
GlFaudbdlanit. 3% all g SHMES LU L T 2T GlFushall GHTens ssusisie)’
a) ap. 4.000 b) tm.3,500 c) m 4,200 d) @.4,040

The ratio of the speed of the three carsis 2 : 3: 4. What is the ratio of times taken
by them in covering the same distance?

a)2:3:4 b)4:3:2 cl4:3:6 d)6:4:3

cpaimy &rTseT 2:3:4 gaip al@ls Casshzey GFmmmsd obs APy STTSETHD
R0 GHUILL Fio &MTHHH & 656 sbhdmid GCaTaEnD GChjmisesm

SllE HHMBH HT60IH. _

a) 2:3:4 b) 4:3:2 c)4:3:6 d) 643
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